
Front 

Material: Aluminium Alloy 
Finish: Etch and Anodise 

Module Front and 
Rear Panels 
Rear e---J 

r-= 1 
A IJ 

For hole positions see page 14.6. 

Handle Section in 1,8m 
lengths (no protective 4,45l t-"17,14--j 
finishl"!'aybeordered ? 1 --1 
by quot10g ·l'.ft .'.4 61 
Order Code 12-1088J. · ~s_l_ 

State total length required 
when ordering. Mln.imum order quantity 3,6m. 

Nominal Handle Width A 

~'""'"""---::---:--1 OrderCode . 

Material : Aluminium Alloy 
Finish: Etch and Anodise 

Module Guide Rails 
Supplied as kit comprising 
one each left and right 
handed rail. 

Module Gufde Rail Section 
In 1,8m lengths (no 
protective finish I may be 
ordered by quoting 
Order Code 12-12400. 
State total length required 

1 , 10y.r:s~ 8 

1.ool~FI. -"'1 L 11.99 
5,00 ~ 

:.:JL 
when ordering. Minimum order quantity 3,6m 

14.22 

G 



~ Fig.1~ Fig. 2 

Fig.~ 

~ 
(The above items are used on hinged front panels, 
see page 14.12) 

23,~6~ ~ (!_ 

'l. 
Fig. 5 

23~06~ -~ 
') 

Fig.6 

~u·/1. 26 ' 

t ' ~v 
Fig. 7 

Material: Fig. 1 Lexan 2014, Black 
Figs. 4, 5, 6 and 7 Noryl SE1, Black 

Guide Mounting Rail 3C, 3D & 3E 

Guide Mounting Rail 3A, 3C & 3D 

2,50 

1,17 

Accessories 
Hinged Panel Bolt (Fig. 1) 
Supplied in packets of 10. 
Order Code 33-0502J 

Hinged Panel Spring (Fig. 2) 
Supplied in packets of 10. 
Order Code 33-05030 

Hinged Panel Hinge Plate (Fig. 3) 
Supplied in packets of 10. 
Order Code 35-0501 G 

Hinged Panel Hinge Bracket (Fig. 4) 
Supplied in packets comprising 5 each hand. 
Order Code 35-0500A 

Front Panel Card Mounting Brackets 
(Figs. 5 & 6) Supplied in packets 
comprising 5 each hand. 
For 5E width (Fig. 5) 
Order Code 36-05900 

For 1 OE width (Fig. 6) 
Order Code 3p;-0589J 

)I, 

Modular Connector 
End Foot (Fig. 7) 
Supplied in packets of 10. 
Order Code 166-2724E 

Extruded 
Sections 
Material: Aluminium Alloy to BS1474 'High Tensile' 

HE9TF or equivalent. 

19.47F~27.71ll- 2.60 
20.07---j 

11.1o-~ I . . I 
J,so~:r2.ss 
J.sol. ... ~ •.. T.: 

-i ~ 2.44 
4,62 

Ill 

Guide & Connector Mounting Rail 3E '*' 

14.23 



Front 

Material: Aluminium Alloy 
Finish: Etch and Anodise 

Module Front and 
Rear Panels 
Rear a---j 

r= '1 
A 

j 

For hole positions see page 14. 6. 

Handle Section in 1,8m 
lengths (no protective 4,45l t--17,14 --t 
finish) ~!lay be ordered ? , --T 
by quotmg . ·l".ft }.4.61 
Order Code 12-1088J. ~61_ 

State total length required 
when ordering. Minimum order quantity 3,6m. 

Nominal Handle Width A 

--::---:---:---
OrderCode . 

Material: Aluminium Alloy 
Finish: Etch and Anodise 

Module Guide Rails 
Supplied as kit comprising 
one each left and right 
handed rail. 

Module Gufde Rail Section 
In 1,8m lengths (no 
protective finish) riiay be 
ordered by quoting 
Order Code 12-12400. 
State total length required 

1.101i~8 
1.00l Fl . -"'1 Lll-11.99 
5,00 q 
:JL 

when ordering. Minimum order quantity 3,6m 

14.22 

G 



Where Used 

Divider plate mounting and McMurdo plug 
mounting to module 
Connector mounting 
Connector and McMurdo mounting 
Circuit board to mounting bracket 

2 rail module card mounting bracket to front panel 
Card mounting bracket to front panel and handle 
Hinged front panel (System 3A) 

Module base plate 

Module side and screening plates 
Module front and rear panels to rails 
Frame tie bars to end plate (3C. 3D. 3E) 
Frame tie bars to end plate (JD. 3E) 

Frame tie bars to end plate (JA) 
Divider plate to individual McMurdo socket 
mounting rails 

Connector mounting 

Hinged front panel (3A, 3C) 

Used with screws above 

Used with screws above 

Hardware 
The screws and nuts listed below may be ordered 
separately. Supplied in packets of 100. 

Fastener 

M3 x Bmm Hex Head Screw 
M3x 12mm 
M3x 10mm 
M3x 6mm 

M3 x Bmm Pan Head (Pozi) Screw 
M3x 10mm 
M3x Bmm 

No.4 x 5/16" Pan Head (Pozi) Self· Tap Screw 

No. 4 X w· 
No. 4x 1h" 
No. 6x 1h" 
No. 6x 1"' 

No.6 x 'h" Flanged Head (Pozi) Self-Tap Screw 

M2,5x 18mm 
M2,5x 24mm 
M2,5x 16mm 

M3 x Bmm Raised CSK Screw 

M2,5 x 0.45 
M3 

M3Washer 

Hex Nut 

MJ Shakeproof Washer 

14.24 

Special Metric 
Screw 


